
Session	8a:	Post	Class	tests	

1. You	are	trying	to	estimate	a	beta	for	Sosa	Inc.,	a	Brazilian	retail	firm.	The	stock	is	
widely	traded	and	20%	of	the	shares	are	held	by	global	investors,	who	account	
for	60%	of	the	trading	on	the	stock.	It	has	also	depository	receipts	listed	in	the	
US,	which	are	dollar	denominated	and	liquid.	Which	of	the	following	regressions	
would	you	use	to	estimate	the	beta?	

a. The	local	listing	against	the	Bovespa,	the	Brazilian	equity	index	
b. The	ADR,	against	the	S&P	500	
c. The	ADR,	against	the	MSCI,	a	global	equity	index	
d. The	local	listing	against	an	index	of	Brazilian	retailers	
e. None	of	the	above	

2. You	have	run	a	regression	of	monthly	returns	for	Cyprus	Industries,	a	publicly	
traded	chemical	company,	against	the	S&P	500	and	obtained	the	following:	

• ReturnsCyprus	=	-0.15%	+	1.80	ReturnsS&P	500	 R2	=	35%	
• The	average	annual	risk	free	rate	during	the	period	3.60%.	

On	a	market-adjusted,	risk-adjusted	basis,	how	well	did	Cyprus	do	during	
this	time	period?	

a. About	1.08%	better	than	expected	
b. About	-1.80%	worse	than	expected	
c. About	1.08%	worse	than	expected	
d. About	1.80%	better	than	expected	
e. None	of	the	above	

3. In	the	Cyprus	Industries	regression	above,	the	R-squared	was	35%.	Now	assume	
that	Cyprus	decides	to	acquire	a	technology	company	of	roughly	equal	size,	with	
an	R-squared	of	15%.		Assuming	that	you	run	a	regression	of	Cyprus	in	a	couple	
of	years,	which	of	the	following	would	you	expect	to	see	happen	to	the	R-squared	
of	the	combined	company?	

a. It	will	be	lower	than	15%	
b. It	will	be	approximately	25%	(halfway	between	15%	and	35%)	
c. If	will	be	between	15%	and	25%	
d. It	will	be	higher	than	25%	

4. Staying	with	the	Cyprus	Industries	analysis,	assume	that	the	standard	error	on	
your	regression	beta	is	0.30.	Which	of	the	following	estimates	would	provide	a	
range	for	the	“true”	beta	with	95%	confidence?	

a. 1.20-2.40	
b. 1.50-2.10	
c. 1.65-	1.95	
d. 0.90-2.70	
e. None	of	the	above	

5. You	are	trying	to	gauge	whether	there	is	a	relationship	between	the	
management	of	a	firm	and	the	Jensen’s	alpha	that	you	compute	for	the	firm.	
Which	of	the	following	is	the	best	indicator	that	management	has	done	a	good	
job?	



a. Firm	has	positive	Jensen’s	alpha	
b. Firm	has	negative	Jensen’s	alpha	
c. Firm	has	positive	Jensen’s	alpha;	Average	Jensen’s	alpha	for	the	sector	is	

negative	
d. Firm	has	positive	Jensen’s	alpha;	Average	Jensen’s	alpha	for	the	sector	is	

positive	
e. None	of	the	above	

	 	


